MUNICIPAL CORPORATION KOTA

'G' SCHEDULE (NIT NO. 13/2017-18) (Copy No. 03)

Name of Work : वार्ड नं. 29, गोविन्द नगर मे स्थित नाला निर्माण एवं मरम्मत कार्य।

Estimated Cost : Rs. 14.75 Lacs Earnest Money: 7375/- (0.50%)

Processing Fee : 500/- 29500/- (2%)

Tender Cost : 1500/- Completion Period : 2 Month

Date of Downloading of Tender (Website) : 05.05.2017 To 28.05.2017 Date of online submission of Tender : 05.05.2017 To 28.05.2017

Date of Opening Tender/ Technical Bid : 30.05.2017 (3:00 PM) (Envelop – A)
Date of Opening Financial Bid : After testing the technical bid

Issued To:	
C R No	Dated

S.NO	Particulars	Qty.	Rate	Amount
1	Silt clearance of drains, channels and			
	canals with lift 1.5 mtr. and lead upto 50			
	mtr.	300.00	48.00	
		Cum	P. Cum	14400.00
2	Dismantling stone slab flooring laid in			
	cement mortar including stacking of			
	serviceable material and disposal of			
	unserviceable material within 50 mtr.			
	lead.	300.0	43.00	12900.0
		Sqm	P.sqm	
3	Demolishing cement concrete including			
	disposal of material within 50 meters			
	lead:			
	1:3:6 richer mix.			
		10.0	388.00	
		Cum	P.cum	3880.00
4	Dismantling stone rubble masonry			
	including stacking of serviceable			
	material and disposal of unserviceable			
	material within 50 meters lead.			
	In cement mortar.	15.0	392.00	5880.00
		cum	P. Cum	

5	Dismantling stone slab roofing over wooden karries and battens (dismantling karries and battens to be paid for separately) including stacking of serviceable material and disposal of unserviceable material with in 50 meters lead.	5.00 Cum	426.00 P. cum	2130.00
6	Demolishing of R.C.C. work including stacking of steel bar and disposal of steal			
	bar and disposal of unsuitable material			
	within 50mm lead.	6.00	567.00	3402.00
		Cum	P.cum	
7	Earthwork in excavation in foundation			
	trenches or drains including dressing of			
	sides and ramming of bottoms, lift upto			
	1.5mtr. including taking out the			
	excavated soil and depositing and			
	refilling of jhiri with watering and			
	ramming and disposal of surplus			
	excavated soil as directed within a lead			
	of 50 mtr. All kinds of soil.	20.00	152.00	
		Cum	P. Cum	3040.00
8	Pumping out water caused by springs, tidal			
	or river seepage, broken water mains or			
	drains and the like with pumping set of following H.P. including P.O.L. / Power			
	consumption etc. complete.			
	5 to 9 H.P.			
		200.0	130.00	26000.00
	L.S. 200 Hours	Hour	Per Hour	
9	Transportation of excavation material from			
	site including loading and loading and			
	unloading etc complete with in lead 10			
	k.m. Earth, sand, lime, morrum, maure or	200.00	01.00	
	sludge.	300.00	81.00	24200.00
10	L.S. 350 Cum Providing and laying in position cement	Cum	P. cum	24300.00
10				
	concrete including curing, compaction			
	etc. complete in specified grade			
	excluding the cost the cost of centering			
	and shuttering – All work upto plinth			
	level.			

	(A) 1:4:8 (1 cement : 5 coarse sand :	35.0	2497.0	87395.0
	8 graded stone aggragate 40 mm nominal size	Cum	P.cum	0,335.0
	(D) 1:15:2 (1 sement :15 seems			
	(B) 1:1.5:3 (1 cement :1.5 coarse sand : 3 graded stone aggregate			
	20mm nominal size).		3711.0	
		60.00	P.Cum	222660.00
11	R/R Stone masonry for foundation and			
	Plinth in cement sand mortar for wall in			
	cement sand mortar 1:6 (1 cement:6			
	sand) above 30 cm thick walls.			
		16.0	2014.0	
		Cum	P.Cum	32224.00
12	Providing and laying damp-proof course with cement concrete grade M-150 (1:2:4) mortar prepared with 1% solution of water – proof compound) excluding two coats of hot blown bitumen (2 kg. per sqm) complete as per specification without glass strip 3mm thick at a distance of 1 m. interval.			
	50 mm thick.	180.00	115.00	
		Sqm	Per Sqm	20700.00
13	Plaster on new surface of walls in			
	cement sand mortar 1 : 4 including			
	racking of Joints etc. complete finished.			
	20mm thick.			
		80.0	120.0	
		Sqm	P.Sqm	9600.00
14	Centering and shuttering with plywood or steel sheets including strutting, propping, bracing both ways and removal of formwork for foundations in basements rafts, footings, strap beams, bases of columns etc. upto plinth level.	•		
		450.0	91.00	
		Sqm	P.sqm	40950.00
		~4···	I .bqiii	.0750.00

15	Providing and fabricating reinforcement			
	for R.C.C. work including straightening,			
	cutting, bending, placing in position and			
	binding (including cost of binding wire)			
	all complete up to floor three level.			
	Cold twisted deformed bars (IS:1786)	3750.0	66.0	
	1.s. 3750.0kg	kg	P.Kg.	247500.00
16	Providing and laying in position	Kg	1 .Kg.	247300.00
10				
	specified grade of reinforced cement			
	concrete including curing			
	compaction finishing with rendering in			
	cement sand mortar 1 : 3 (1 cement : 3			
	coarse sand) and making			
	good the joints excluding the cost of			
	centering, shuttering and rein for			
	cement all work up to plinth level 1:			
	1.5 : 3 (1cement : 1.5 coarse sand : 3			
	graded store aggregate 20 mm nominal			
	size.	00.00	4027.00	
		90.00	4027.00	262420.00
1.7	D :1: 1 C :	Cum	P.cum	362430.00
17	Providing and fixing steel gate grating			
	and grills made of angles, tees, square			
	bars or other flats black pipe with			
	holdfast and fittings complete as per			
	design and drawing including cutting			
	welding and fabrication with priming			
	coat of red oxide.			
	L.S. 500.00	500.0	78.00	
		K.g.	P.K.g.	39000.00

18	35mm thick Rough Chisel dressed stone			
	flooring of approved shade set in pattern			
	over 20mm thick base of cement mortar			
	1:6 and Joint finished with cement sand			
	mortar 1 : 3 complete in all respects Red			
	sand stone.			
		75.00	360.0	
		Sqm	P.Sqm	27000.00
19	Supplying and fixing of stone linted /			
	bed plats of approved quarry rough			
	dressed in cement mortar 1 : 4.			
	upto 15 cm thick.			
		24.00	11490.00	
		Cum	P.cum	275760.00
20	Flyash Brick masonry in foundation			
	and plinth with Flyash bricks of class			
	designation 75 in :			
	Cement mortar 1:6 (1 cement : 6 coarse			
	sand).			
		5.00	2696.00	
		Cum	P.cum	13480.00
	Total			1474631.00

Terms & Conditions:

- 1. Conditional tender shall not be accepted.
- 2. In case of any error in rates or nomenclature, the same shall be paid as per B.S.R. of P.W.D. 2013.
- 3. निविदा दर बी.एस.आर. से कम होने पर अन्तर राशि की बैंक गारन्टी / डी. डी. विभाग में टेण्डर स्वीकृत होने के 15 दिवस के अन्दर—अन्दर जमा कराना होगा, अन्यथा धरोहर राशि जब्त की जाकर निविदा निरस्त कर दी जावेगी।

I/We hereby agree to execute the work:

@	% above/below (in words)
@	% above/below (in Figures)

Signature of Contractor

Executive Engineer Municipal Corporation, Kota

—प्रारूप— (लेटरहेड)

सहमति-पत्र

श्रीमान अधिशाषी अभियन्ता, नगर निगम कोटा।

विषय: अपनी निविदा हेतु सहमति के संबंध में।

महोदय,

विषयान्तर्गत निवेदन है कि मैं सत्यनिष्ठा पूर्वक अपनी निम्न सहमति प्रस्तुत करता हूँ :--

- 1) निविदा प्रपत्र पर मेरे स्वयं के हस्ताक्षर है।
- 2) निविदा दर स्वयं मेरे द्वारा भरी गई है।
- 3) मेरे द्वारा प्रस्तुत रजिस्ट्रेशन मेरा स्वयं का है एवम् पूर्णतया वैध है।
- 4) कार्य मेरे द्वारा ही सम्पादित किया जायेगा एवं इसे Sublet नहीं किया जायेगा।
- 5) किसी भी प्रकार की गलत जानकारी के लिये मैं स्वयं उत्तरदायी रहूँगा।

दिनांक :	(हस्ताक्षर संवेदक	मय सील)
14.1147 •	(एर्साजर राप५५)	नप साला)